	Component
	Assembly
	Option 
	Name
	Size 
	Q
	Price 
	Website/ place to buy

	Steering
	Spindle Assembly
	a
	Spindle kit left
	¾” x 3-3/4"
	1
	$18.99
	http://www.mfgsupply.com/m/c/AZ2200.html

	
	
	
	Spindle kit right
	¾” x 3-3/4"
	1
	$18.99
	http://www.mfgsupply.com/m/c/AZ2201.html

	
	
	a
	Spindle Side 2
	¾” x 4-½"
	1
	$14.95

+4.00 for kit 
	http://www.bmikarts.com/item/3-4-x-4-1-2-Spindle-Side-2-411401-or-411501-1266

	
	
	
	Spindle Side 1
	¾” x 4-½"
	1
	$14.95

+4.00 for kit
	http://www.bmikarts.com/item/3-4-x-4-1-2-Spindle-Side-1-411400-or-411500-1264

	
	
	b
	Spindle Side 1
	¾" x 6"
	1
	$14.95

+4.00 for kit
	http://www.bmikarts.com/item/3-4-x-6-Spindle-Side-1-411410-or-411510-6007

	
	
	
	Spindle Side 2
	¾" x 6"
	1
	$14.95

+4.00 for kit
	http://www.bmikarts.com/item/3-4-x-6-Spindle-Side-2-411411-or-411511-6006

	
	
	a
	Spindle bracket
	2- ½" ½” hole 
	2
	$3.50 
	http://www.bmikarts.com/item/Spindle-Bracket-411300-or-411310-67

	
	
	a
	Spindle bolt and nut  
	½” 
	2
	Varies 
	Hardware store 

	
	
	a
	4x4 wheel hub + bearings 
	5/8” ID 
	2
	$20.95
	http://www.bmikarts.com/item/Heavy-Duty-4-on-4-Wheel-Hub-260056-3203

	
	
	b
	Black Wheel Hub + bearings 
	5/8” ID
	2
	$11.95
	http://www.bmikarts.com/item/Black-Wheel-Hub-800311-3005

	
	
	c
	Galvanized wheel hub 
	5/8” ID
	2
	$11.95
	http://www.bmikarts.com/item/Galvanized-Wheel-Hub-800312-6259

	
	
	d
	Wheel hub
	 ¾” ID
	2
	$10.99
	http://www.mfgsupply.com/m/c/AZ2275.html

	
	
	
	
	
	
	
	

	Component
	Assembly
	Option 
	Name
	Size 
	Q
	Price 
	Website/ place to buy

	Steering
	Tie-rods
	a
	Female tie rod kit
	3/8” by 13”
	2
	$9.95
	http://www.bmikarts.com/item/3-8-24-Tie-Rod-Kit-420011-&-420020-69

	
	
	b
	Male tie rod kit aluminum
	3/8” by (TBD)
	2
	$14.90
	http://www.bmikarts.com/item/3-8-Aluminum-Tie-Rod-Kit-PM-25-Kit-7245

	
	
	c
	Male tie rod kit tube
	3/8” by (TBD)
	2
	$14.90
	http://www.bmikarts.com/item/Racing-Tubular-Tie-Rod-Kit-3-8-24-617K-7244

	
	
	
	
	
	
	
	

	Component
	Assembly
	Option 
	Name
	Size 
	Q
	Price 
	Website/ place to buy

	Steering
	Steering wheel assembly
	a
	Steering wheel kit less wheel
	34” long shaft 
	1
	$26.99
	http://www.mfgsupply.com/m/c/AZ1868-34.html

	
	
	a
	Steering wheel 
	
	1
	
	Self fabricated

	
	
	a
	Steering wheel hub 
	6 bolt 
	1
	$8.79
	http://www.bmikarts.com/item/Steering-Wheel-Hub-660006-1426

	
	
	a
	Steering block
	5/8
	1
	$5.00
	http://www.bmikarts.com/item/Lower-Steering-Block-660009-5975

	
	
	b
	Square steering block
	5/8
	1
	$5.00
	http://www.bmikarts.com/item/Upper-Steering-Block-660008-5974

	
	
	c
	Aluminum steering block
	5/8
	1
	$6.95
	http://www.bmikarts.com/item/Upper-Steering-Block---1-hole-660400-6257

	
	
	a
	Chrome steering cap
	1 – ½” or 1 – 5/8” 
	1
	$5.99
	http://www.bmikarts.com/item/Steering-Wheel-Cap-Assembly-AZ1877-60

	
	
	
	
	
	
	
	

	Component
	Assembly
	Option 
	Name
	Size 
	Q
	Price 
	Website/ place to buy

	Drive-train 
	Clutch 
	a
	Hilliard Extreme Duty Inferno Fury Bore Racing Clutch 
	3/4" 
	19 teeth

#35 chain
	1
	$55.59 or

$71.95 with sprocket
	http://www.bmikarts.com/item/Hilliard-Extreme-Duty-Inferno-Fury-3-4-Bore-Racing-Clutch-404620-6512

	
	
	b
	Hilliard Extreme Duty
	3/4"
	10 teeth

#40 chain
	1
	$38.95
	http://www.bmikarts.com/item/Hilliard-Extreme-Duty-3-4-Clutch-10T-40-41-404610-6516

	
	
	a
	Hilliard Clutch Replacement Sprocket
	3/4"
	16-22 teeth

#219 chain
	1
	$20.95
	http://www.bmikarts.com/item/Hilliard-Clutch-Replacement-Sprocket---219-Chain-404661-7304

	
	Chain
	a
	Master link 
	#35
	1
	$0.60
	http://www.bmikarts.com/item/Master-Link-4016-2285

	
	
	b
	RLV Extreme Chain
	#35 106links 40”
	
	$17.95
	http://www.bmikarts.com/item/35-RLV-Extreme-Chain-Gold-on-Black-400635GB-3021

	
	Chain tool
	a
	#35 Deluxe Chain Tool
	#35
	1
	$16.95
	http://www.bmikarts.com/item/35-Deluxe-Chain-Tool-600100-or-600101-6005

	
	Axle sprocket assembly 
	a
	Aluminum Sprocket Hub - Star
	6 bolt holes on a 5 1/4" bolt hole circle 1-1/4” axle
	1
	$23.95
	http://www.bmikarts.com/item/Aluminum-Sprocket-Hub---Star-400240-600248-600238-600239-&-600249-5760

	
	
	c
	Aluminum Sprocket Hub
	6 bolt holes on a 5 1/4" bolt hole circle 1-1/4” axle
	1
	$28.95
	http://www.bmikarts.com/item/Aluminum-Sprocket-Hub-400245-&-600243-5759

	
	
	a
	Sprocket 72 teeth #35
	5 1/4" bolt hole circle
	1
	$14.95
	http://www.bmikarts.com/item/Sprocket-35-72T-AZ2158-253

	
	
	b
	WMS #35 Split Sprocket
	53-75 tooth 5 1/4" bolt hole circle
	1
	$12.00
	http://www.bmikarts.com/item/WMS-35-Split-Sprocket-6135-3279

	
	
	c
	Sprocket #35 60T
	5 1/4" bolt hole circle
	1
	$12.95
	http://www.bmikarts.com/item/Sprocket-35-60T-AZ2152-725

	
	
	d
	#35 Premier Split Sprocket
	81-83 teeth
	1
	$5.00
	http://www.bmikarts.com/item/35-Premier-Split-Sprocket-81T-83T-sale-2142

	
	
	e
	#35 Split Sprocket
	60-72 teeth (60teeth)
	1
	$11.00
	http://www.bmikarts.com/item/35-Split-Sprocket-6335-6565

	
	
	a
	Sprocket guard 
	
	1
	$5.00
	http://www.bmikarts.com/item/Premier-Sprocket-Guard---Aluminum-400293-7042

	
	Axle 
	a
	Plain steel Full key 1497K402
	1-1/4” x 36”  ¼” keyway.  solid
	1
	$66.50
	http://www.mcmaster.com/#1497k402/=ektowf

	
	
	b
	Tubular Chromoly Axle black with snap grooves
	1-1/4” x 36”  ¼” keyway hollow
	1
	$43.50
	http://www.bmikarts.com/item/1-1-4-Tubular-Chromoly-Axle-6014-3344

	
	
	c
	Tubular aluminum Axle with snap grooves
	1-1/4” x 36”  ¼” keyway hollow
	1
	$35.00
	http://www.bmikarts.com/item/1-1-4-Tubular-Aluminum-Axle-6004-2311

	
	
	d
	Solid aluminum Axle with snap grooves
	1-1/4” x 36”  ¼” keyway hollow
	1
	$45.00
	http://www.bmikarts.com/item/Solid-Aluminum-Axle-w--Snap-Ring-Groove-6008-or-6018-845

	
	Brakes 
	a
	Cast Aluminum Hydraulic Brake Kit black
	1” or 1-1/4” 
	1
	$149.95 
	http://www.bmikarts.com/item/1-or-1-1-4-Cast-Aluminum-Hydraulic-Brake-Kit-600506-or-600507-5793

	
	
	b
	Billet Aluminum Hydraulic Brake Kit red
	1” or 1-1/4”
	1
	$187.95
	http://www.bmikarts.com/item/1-or-1-1-4-Hydraulic-Brake-Kit---Red-600505R-or-600510R-5781

	
	
	
	
	
	
	
	

	
	Bearing 
	a
	Double sealed, base mount, bearings 6300 rpm 6361K22
	1-1/4” 
	2
	$53.98
	http://www.mcmaster.com/#6361k22/=ekuy1u

	
	
	b
	Double sealed, base mount, bearings 5300 rpm 6361K41
	1-1/4”
	2
	$64.87
	http://www.mcmaster.com/#6361k41/=ekuzpp

	
	
	c
	Bearing kit 
	1-1/4” three hole 
	1
	$24.95
	http://www.bmikarts.com/item/1-1-4-Bearing-Kit-3-hole-400415-5973

	
	Rear wheel hub
	a
	Billet Aluminum Wheel Hub circle
	4x4 1-1/4” with ¼” keyway
	2
	$27.95
	http://www.bmikarts.com/item/4-x-4-Billet-Aluminum-Wheel-Hub---1-1-4-Bore-380026-7228

	
	
	b
	Billet Aluminum Wheel Hub
Star pattern
	4x4 1-1/4” with ¼” keyway
	2
	$32.95
	http://www.bmikarts.com/item/Billet-Aluminum-Rear-Wheel-Hub---Star-A9040-7348

	
	
	
	
	
	
	
	

	Component
	Assembly
	Option 
	Name
	Size 
	Q
	Price 
	Website/ place to buy

	Other/ assorted 
	Engine mount
	a
	9 x 5 Motor Mount
	9" x 5" x 3/16"
	1
	$7.95
	http://www.bmikarts.com/item/9-x-5-Motor-Mount-400368-6154

	
	Kill switch
	a
	Button Kill Switch
	48” wire
	1
	$3.79
	http://www.mfgsupply.com/m/c/31-2946.html

	
	
	b
	Toggle Kill Switch
	48” wire
	1
	$4.95
	http://www.bmikarts.com/item/Toggle-Kill-Switch-400501-5917

	
	
	c
	Button Kill Switch
	36” wire
	1
	$3.00
	http://www.bmikarts.com/item/Kill-Switch-400500-73

	
	
	d
	Ignition Key Switch with key
	Inline
	1
	$20.00
	http://www.bmikarts.com/item/Ignition-Key-Switch--529.006-6364

	
	Pedals 
	a
	Brake pedal 
	5/16-18 x 1 3/4” bolt
	1
	$5.95
	http://www.bmikarts.com/item/Brake-Foot-Pedal-400265-56

	
	
	
	brake attach kit
	norm
	2
	$2.95
	http://www.bmikarts.com/item/Brake-Kit-400261-6218

	
	
	
	Throttle pedal 
	5/16-18 x 1 3/4” bolt
	1
	$5.95
	http://www.bmikarts.com/item/Gas-Foot-Pedal-400750-6502

	
	Throttle cable
	a
	Throttle / Brake Cable
	74” 
	1
	$5.00
	http://www.bmikarts.com/item/Throttle---Brake-Cable---74-36000750-7252

	Wheels 
	Wheels and tires 
	a
	Turf Tire/Rim Assembly
	18 x 8.50-8
	4
	$60.00
	http://www.bmikarts.com/item/18x8.50-8-Turf-Tire-Rim-Assembly-260118-106

	
	
	b
	Slick Tire/Rim Assembly
	18x9.50-8
	4
	$60.00
	http://www.bmikarts.com/item/18-Slick-Tire-Rim-Assembly-260318-817


http://www.gokartracing.org/Calculate.htm

